
 
How Geosciences become crucial for the Insurance Business. 
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If St+1<0  bankruptcy. 



L 

•

•

•

•

•



•

•

•

•



P40(τ =200) ≈ 18%  

Probability that an event with return period τ happens 
to occur within N years. 

And how to estimate the 200-yr loss? 



 Estimate return periods of high losses. 

Problem: Extrapolation from short observations periods. 
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 Pure statistical approach 
 is very uncertain. 





Mean loss = premiums. 

Deviation from mean loss is Gaussian  L=μL + k σL 

Individual losses are correlated  ρij > 0 

The annual ruin probability should be pb=1/200.  





Observed 18.99 According to this 
observation one 
CRESTA cell 
determines the 
majority of the loss. 
Don’t trust 
observed loss 
statistics. 
 Use Risk Models. 
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Summary: 
The EU forces insurers to estimate their risk. 
Insurers need the work of geoscientists. 
 
 There is a lot of work waiting to be done by geoscientists. 



Thanks for your attention 




